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Part .'\ - Answer Any Two Full ()uv\lion\ ( 2% 20 = 40 marks)
1 (@) Explain the Rules of Probability. - [03) O 12
() Outline the case and solve ln Binomial Distribution. 7 - R 7 [07) )2 i4
10 coins are thrown simull; ncously. Find the probability of getting atleast 7
wcads.
O [Examine the case, [10] ¢oa i3
An insurance company, which specializes in motor insurance, bases the premium
charged partly on the region of the country in which the owner of the vehicle
lives. The following table shows the number of claims from cach region for a
random sample of claims in the year 2010 and the percentage distribution of
claims in the previous years.
Region Al B [c| o | &
‘Number of claims in | 59 IO 67 ol 9
2010
% of claims before | 10 | 25 15 30 | 20
2010
Test whether there is evidence of a significant change in the distribution of
claims. Use Chi Square Test.
2 (a) ICalculate the probability of throwing 7 with two dice. [03] CO4 13
(b) [Solve the given case. N [07] CO4 13
Set up ANOVA table for the following per hectare yield for three varieties of |
wheat, cach grown in four plots:
Plots of Land Varicty of Wheat
Al Az As
1 6 S 5
2 7 5 B 4
3 3 3 3
q 8 7 4
Also work out F-ratio and test whether there is significant difference among the
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Lverape yields in the 3 varictics of wheat, (Use ANNOVA TESNT ) - e

(¢) lOuttine the given problem and solve by Poisson Distribution. [10] €03 LA
In o certain factory turning, razai blades there is a small chance of 17500 for any,
Jlade to be defective. The blades are in packets of 10. Use Poisson distribution 1o
caleulate the approximately number of packets containing (i) no defective, (1)
bne defective, (i) 2 defective blades respectively in a consignment of 10,000

packelts. S

3 () [Caleulate the probability. A bag, contains 6 red and 7 black balls. Find thef [03] CO4 L7

probability of drawing a red ball,

(b) [Summarize and compute the value of test and write the conclusion. [07] CO4 L3
A random sample of 200 tins of coconut oil gave an average weight of 4.95 kgs|
with a standard deviation of 0.21 kg. Do we accept the hypothesis of net weight 5
kgs per tinat 5%.

(¢) Pudge the case as per the r'chl'lircxncnt»."("o'xﬁp_uic*tllc Probability based on Normal [10] ©© L3

Distribution,
I'he weekly wages of 1000 workmen are normally distributed around a mean of

Rs. 70 with a S.D.of Rs. 5. Estimate the number of workers whose weekly wages
will be
i.  Between Rs. 69 and Rs. 72.
i, Less than Rs. 69,
iil.  More than Rs. 72, i
“Part B - Compulsory (01*10=10 marks) - CASE STUDY

4
7 IAnalyze the case given below. [(10] CO4 @4
A computer company XYZ  would like to choose the performance of
programmers, scoring in 2 branches, located in different cities. The performance
indices of employecs:
Branch A | 84 08 78 49 45
Branch B | 76 77 64 62 53
I'o find out whether there is any difference in the performance indices of
employees of the two branches. {Apply U test}
. X N . - by o o f -
; Course Qutcomes (COs) 3 8 8 5 3 8 | 8 1 8 8
i & a & -4 - A A -6
| cot: ' Understand how to organize, manage, and : '
" present the data. 5 f
| cop: | Use and apply a wide variety of specific T i
7 statistical tools.
cos.  Understand the applications of probability in la,  la,
L _business. 1b, b, | o
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